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#include <math.h>

#define
#define
#define
#define
#define
#define

ERFC_APPROX_AO
ERFC_APPROX_A1
ERFC_APPROX_A2
ERFC_APPROX_A3
ERFC_APPROX_A4
ERFC_APPROX_P

53
[=]
)
[=]

0.24415132447597377699
0.40888021168894839544
-0.18289935763498826791
0.75062257248685838204
-0.22075486818349616103
0.46782803228416853550

double erfc_approx(double x)

{

double t

double y = ERFC_APPROX_A4;

y
y
y

y * t + ERFC_APPROX_A3;
y * t + ERFC_APPROX_A2;
y * t + ERFC_APPROX_A1;

y =y * t + ERFC_APPROX_AO;
return y * t * exp(-x * x);
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[g(x) - erfe(x)] / erfe(x)

0 =.

(1.0/ERFC_APPROX_P) / ((1.0/ERFC_APPROX_P) + x);
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